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restart; G s d cos Pi
2
$s

2
; ui d piecewise   K1 ! xK t ! 1 and  K1 ! xC t ! 1,

 1
2

int G s , s = xK t ..xCt , K1 ! xKt ! 1 and xC t O 1, 1
2

int G s , s = xKt ..1 ,  x

Kt !K1 and K1 ! xC t ! 1, 1
2

int G s , s =K1 ..xC t ,  xKt !K1 and xC t O 1,

1
2

int G s , s =K1 ..1 ,  0 

G := s/cos 1
2

 π s
2

ui :=

1
2

 
π tCcos 1

2
 π KxC t  sin 1

2
 π KxC t Ccos 1

2
 π xCt  sin 1

2
 π xC t

π
K1 ! x

1
4

 
π tKπ xC2 cos 1

2
 π KxC t  sin 1

2
 π KxC t Cπ

π

1
4

 
π tCπ xC2 cos 1

2
 π xC t  sin 1

2
 π xCt Cπ

π
x

1
2

0

for i from 0 to 5 by 0.25 do u1 d subs t = i, ui : plot u1, x =K5 ..5  end do

u1 :=

1
2

 
cos K

1
2

 π x  sin K
1
2

 π x Ccos 1
2

 π x  sin 1
2

 π x

π
K1 ! x and x ! 1

1
4

 
Kπ xC2 cos K

1
2

 π x  sin K
1
2

 π x Cπ

π
K1 ! x and x ! 1 and 1 ! x

1
4

 
π xC2 cos 1

2
 π x  sin 1

2
 π x Cπ

π
x !K1 and K1 ! x and x ! 1

1
2

x !K1 and 1 ! x

0 otherwise
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K1

K0.5

0.5

1

u1 :=

1
2

 
0.25 πCcos 1

2
 π KxC0.25  sin 1

2
 π KxC0.25 Ccos 1

2
 π xC0.25  sin 1

2
 π xC0

π

1
4

 
1.25 πKπ xC2 cos 1

2
 π KxC0.25  sin 1

2
 π KxC0.25

π

1
4

 
1.25 πCπ xC2 cos 1

2
 π xC0.25  sin 1

2
 π xC0.25

π

1
2

0
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0.05

0.10

0.15

0.20

u1 :=

1
2

 
0.50 πCcos 1

2
 π KxC0.50  sin 1

2
 π KxC0.50 Ccos 1

2
 π xC0.50  sin 1

2
 π xC0

π

1
4

 
1.50 πKπ xC2 cos 1

2
 π KxC0.50  sin 1

2
 π KxC0.50

π

1
4

 
1.50 πCπ xC2 cos 1

2
 π xC0.50  sin 1

2
 π xC0.50

π

1
2

0
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0.1

0.2

0.3

0.4

u1 :=

1
2

 
0.75 πCcos 1

2
 π 0.75Kx  sin 1

2
 π 0.75Kx Ccos 1

2
 π xC0.75  sin 1

2
 π xC0.75

π

1
4

 
1.75 πKπ xC2 cos 1

2
 π 0.75Kx  sin 1

2
 π 0.75Kx

π

1
4

 
1.75 πCπ xC2 cos 1

2
 π xC0.75  sin 1

2
 π xC0.75

π

1
2

0



x
K4 K2 0 2 4

0.1

0.2

0.3

0.4

u1 :=

1
2

 
1.00 πCcos 1

2
 π KxC1.00  sin 1

2
 π KxC1.00 Ccos 1

2
 π xC1.00  sin 1

2
 π xC1

π

1
4

 
2.00 πKπ xC2 cos 1

2
 π KxC1.00  sin 1

2
 π KxC1.00

π

1
4

 
2.00 πCπ xC2 cos 1

2
 π xC1.00  sin 1

2
 π xC1.00

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
1.25 πCcos 1

2
 π 1.25Kx  sin 1

2
 π 1.25Kx Ccos 1

2
 π xC1.25  sin 1

2
 π xC1.25

π

1
4

 
2.25 πKπ xC2 cos 1

2
 π 1.25Kx  sin 1

2
 π 1.25Kx

π

1
4

 
2.25 πCπ xC2 cos 1

2
 π xC1.25  sin 1

2
 π xC1.25

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
1.50 πCcos 1

2
 π 1.50Kx  sin 1

2
 π 1.50Kx Ccos 1

2
 π xC1.50  sin 1

2
 π xC1.50

π

1
4

 
2.50 πKπ xC2 cos 1

2
 π 1.50Kx  sin 1

2
 π 1.50Kx

π

1
4

 
2.50 πCπ xC2 cos 1

2
 π xC1.50  sin 1

2
 π xC1.50

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
1.75 πCcos 1

2
 π 1.75Kx  sin 1

2
 π 1.75Kx Ccos 1

2
 π xC1.75  sin 1

2
 π xC1.75

π

1
4

 
2.75 πKπ xC2 cos 1

2
 π 1.75Kx  sin 1

2
 π 1.75Kx

π

1
4

 
2.75 πCπ xC2 cos 1

2
 π xC1.75  sin 1

2
 π xC1.75

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
2.00 πCcos 1

2
 π 2.00Kx  sin 1

2
 π 2.00Kx Ccos 1

2
 π xC2.00  sin 1

2
 π xC2.00

π

1
4

 
3.00 πKπ xC2 cos 1

2
 π 2.00Kx  sin 1

2
 π 2.00Kx

π

1
4

 
3.00 πCπ xC2 cos 1

2
 π xC2.00  sin 1

2
 π xC2.00

π

1
2

0



x
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
2.25 πCcos 1

2
 π 2.25Kx  sin 1

2
 π 2.25Kx Ccos 1

2
 π xC2.25  sin 1

2
 π xC2.25

π

1
4

 
3.25 πKπ xC2 cos 1

2
 π 2.25Kx  sin 1

2
 π 2.25Kx

π

1
4

 
3.25 πCπ xC2 cos 1

2
 π xC2.25  sin 1

2
 π xC2.25

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
2.50 πCcos 1

2
 π 2.50Kx  sin 1

2
 π 2.50Kx Ccos 1

2
 π xC2.50  sin 1

2
 π xC2.50

π

1
4

 
3.50 πKπ xC2 cos 1

2
 π 2.50Kx  sin 1

2
 π 2.50Kx

π

1
4

 
3.50 πCπ xC2 cos 1

2
 π xC2.50  sin 1

2
 π xC2.50

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
2.75 πCcos 1

2
 π 2.75Kx  sin 1

2
 π 2.75Kx Ccos 1

2
 π xC2.75  sin 1

2
 π xC2.75

π

1
4

 
3.75 πKπ xC2 cos 1

2
 π 2.75Kx  sin 1

2
 π 2.75Kx

π

1
4

 
3.75 πCπ xC2 cos 1

2
 π xC2.75  sin 1

2
 π xC2.75

π

1
2

0



x
K4 K2 0 2 4

0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
3.00 πCcos 1

2
 π 3.00Kx  sin 1

2
 π 3.00Kx Ccos 1

2
 π xC3.00  sin 1

2
 π xC3.00

π

1
4

 
4.00 πKπ xC2 cos 1

2
 π 3.00Kx  sin 1

2
 π 3.00Kx

π

1
4

 
4.00 πCπ xC2 cos 1

2
 π xC3.00  sin 1

2
 π xC3.00

π

1
2

0



x
K4 K2 0 2 4

0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
3.25 πCcos 1

2
 π 3.25Kx  sin 1

2
 π 3.25Kx Ccos 1

2
 π xC3.25  sin 1

2
 π xC3.25

π

1
4

 
4.25 πKπ xC2 cos 1

2
 π 3.25Kx  sin 1

2
 π 3.25Kx

π

1
4

 
4.25 πCπ xC2 cos 1

2
 π xC3.25  sin 1

2
 π xC3.25

π

1
2

0



x
K4 K2 0 2 4

0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
3.50 πCcos 1

2
 π 3.50Kx  sin 1

2
 π 3.50Kx Ccos 1

2
 π xC3.50  sin 1

2
 π xC3.50

π

1
4

 
4.50 πKπ xC2 cos 1

2
 π 3.50Kx  sin 1

2
 π 3.50Kx

π

1
4

 
4.50 πCπ xC2 cos 1

2
 π xC3.50  sin 1

2
 π xC3.50

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
3.75 πCcos 1

2
 π 3.75Kx  sin 1

2
 π 3.75Kx Ccos 1

2
 π xC3.75  sin 1

2
 π xC3.75

π

1
4

 
4.75 πKπ xC2 cos 1

2
 π 3.75Kx  sin 1

2
 π 3.75Kx

π

1
4

 
4.75 πCπ xC2 cos 1

2
 π xC3.75  sin 1

2
 π xC3.75

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
4.00 πCcos 1

2
 π 4.00Kx  sin 1

2
 π 4.00Kx Ccos 1

2
 π xC4.00  sin 1

2
 π xC4.00

π

1
4

 
5.00 πKπ xC2 cos 1

2
 π 4.00Kx  sin 1

2
 π 4.00Kx

π

1
4

 
5.00 πCπ xC2 cos 1

2
 π xC4.00  sin 1

2
 π xC4.00

π

1
2

0
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0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
4.25 πCcos 1

2
 π 4.25Kx  sin 1

2
 π 4.25Kx Ccos 1

2
 π xC4.25  sin 1

2
 π xC4.25

π

1
4

 
5.25 πKπ xC2 cos 1

2
 π 4.25Kx  sin 1

2
 π 4.25Kx

π

1
4

 
5.25 πCπ xC2 cos 1

2
 π xC4.25  sin 1

2
 π xC4.25

π

1
2

0



x
K4 K2 0 2 4

0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
4.50 πCcos 1

2
 π 4.50Kx  sin 1

2
 π 4.50Kx Ccos 1

2
 π xC4.50  sin 1

2
 π xC4.50

π

1
4

 
5.50 πKπ xC2 cos 1

2
 π 4.50Kx  sin 1

2
 π 4.50Kx

π

1
4

 
5.50 πCπ xC2 cos 1

2
 π xC4.50  sin 1

2
 π xC4.50

π

1
2

0



x
K4 K2 0 2 4

0.1

0.2

0.3

0.4

0.5

u1 :=

1
2

 
4.75 πCcos 1

2
 π 4.75Kx  sin 1

2
 π 4.75Kx Ccos 1

2
 π xC4.75  sin 1

2
 π xC4.75

π

1
4

 
5.75 πKπ xC2 cos 1

2
 π 4.75Kx  sin 1

2
 π 4.75Kx

π

1
4

 
5.75 πCπ xC2 cos 1

2
 π xC4.75  sin 1

2
 π xC4.75

π

1
2

0



x
K4 K2 0 2 4

0.2

0.3

0.4

0.5

u1 :=

1
2

 
5.00 πCcos 1

2
 π 5.00Kx  sin 1

2
 π 5.00Kx Ccos 1

2
 π xC5.00  sin 1

2
 π xC5.00

π

1
4

 
6.00 πKπ xC2 cos 1

2
 π 5.00Kx  sin 1

2
 π 5.00Kx

π

1
4

 
6.00 πCπ xC2 cos 1

2
 π xC5.00  sin 1

2
 π xC5.00

π

1
2

0
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x
K4 K2 0 2 4

0.30

0.35

0.40

0.45

0.50


